JOINT CONNECTOR BOLT 1/4 x 35mm

LOCK WASHER 5/16
WASHER 5/16

JOINT CONNECTOR NUT 1/4 x 17mm

INSTRUCTIONS:

1. WITH SOMEONE ELSE’S PLACE THE HEADBOARD IN FLAT SURFACE AND ALIGN THE LEGS.
2. THEN FIX BOTH LEGS AS SHOWN IN THE IMAGE "A" AND INSERT THE JOINT CONNECTOR IN THE HOLES.

NOTE. IF YOU SEE THAT WITH THE SCREWS THEY DO NOT TIGHTEN THE LEGS OF YOUR HEADBOARD, USE THE WASHER THAT ARE INCLUIDE
IN THE KIT, PLACE THEM ON THE BACK AS SHOWN IN FIG "A"

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT

) 5@ ASSEMBLY INSTRUCTIONS

W UI-HBD-E001

HARDWARE
DESCRIPTION

JOINT CONNECTOR BOLT 1/4 x 35 mm

JOINT CONNECTOR NUT 1/4 x 17 mm

LOCK WASHER 5/16"

WASHER 5/16"
KEY ALLEN 5/32

#PCS



	Sheet1
	Vista de dibujo1
	Vista de detalle A (2 : 13)


